
DT Doors Toll Free: 1-866-585-3555  2008

PICTURE ADH CODE DESCRIPTION 7-2x4 7-4x4 8-2x5 8-4x5 9-4x5 10-4x6 12-4x7
Q'TY Q'TY Q'TY Q'TY Q'TY Q'TY Q'TY

ADH USE ADH USE ADH USE ADH USE ADH USE ADH USE ADH USE

FB1200W FLAG 2" OFFSET SLOTTE
(12GA FLAG BRACKET) 2 2 2 2 2 2 2

HB0019W
22" ANGLE
(12GA HORIZONTAL
BRACKET)

2 2 2 2 2 2 2

CB1101

SPRING ANCHOR 3-3/8 11
GA W/BGR
(CENTER BRACKET
W/BEARING)

1 1 1 1 1 2 2

BB1200 BB-1
(BOTTOM BRACKET) 2 2 2 2 2 2 2

JB1106 JAMB BRACKET NO.6
(JAMB #6 & #7) 2 2 2 2 2 2 2

JB1108 JAMB BRACKET NO.8
(JAMB #8 & #9) 2 2 4 4 4 6 6

JB1110 JAMB BRACKET NO.10 0 0 0 0 0 0 2

SP3980

RES ADJ TOP BRKTS
2X1/16 HEAD
(RESIDENTIAL TOP
BRACKET)

2 2 2 2 2 2 2

EB0011
EBF 3-3/8 11 GA W/BRG
(END BRACKET
W/BEARING)

2 2 2 2 2 2 2

HG1401 14GA HINGE NO.1 5 11 6 14 14 17 20

HG1402 14GA HINGE NO.2 2 2 2 2 2 2 2

HG1403 14GA HINGE NO.3 2 2 2 2 2 2 2



DT Doors Toll Free: 1-866-585-3555  2008

PICTURE ADH CODE DESCRIPTION 7-2x4 7-4x4 8-2x5 8-4x5 9-4x5 10-4x6 12-4x7
Q'TY Q'TY Q'TY Q'TY Q'TY Q'TY Q'TY

ADH USE ADH USE ADH USE ADH USE ADH USE ADH USE ADH USE

HG1404 14GA HINGE NO.4 0 0 2 2 2 2 2

HG1405 14GA HINGE NO.5 0 0 0 0 0 2 2

HG1406 14GA HINGE NO.6 0 0 0 0 0 0 2

BR2004
2" PLASTIC ROLLER
(2" RESIDENTIAL NYLON
ROLLER )

10 0 12 0 0 0 0

BR2114

NYLON WHITE ROLLER
W/BEARING
(2" COMMERCIAL NYLON
ROLLER)

0 10 0 12 12 14 16

AD0408 4X8 CABLE DRUM 1 PR 1 PR 1 PR 1 PR 0 0 0

AD0413 400-12 CABLE DRUM 0 0 0 0 1 PR 1 PR 1 PR

1/8 7X7 100" CABLE 1 PR 1 PR 0 0 0 0 0

1/8 7X7 X112" CABLE 0 0 1 PR 1PR 0 0 0

1/8 7X7 X124" CABLE 0 0 0 0 1 PR 0 0

1/8X136" CABLE 0 0 0 0 0 1PR 0



DT Doors Toll Free: 1-866-585-3555  2008

PICTURE ADH CODE DESCRIPTION 7-2x4 7-4x4 8-2x5 8-4x5 9-4x5 10-4x6 12-4x7
Q'TY Q'TY Q'TY Q'TY Q'TY Q'TY Q'TY

ADH USE ADH USE ADH USE ADH USE ADH USE ADH USE ADH USE

1/8X160" CABLE 0 0 0 0 0 0 1 PR

FS822 1/4-20x3/4" Tek Screw 70 94 82 128 128 138 156

FS8250 1/4-10X2" LAG SCREW 20 20 24 24 26 32 36

FS841 3/8-16X1-1/2 MACHINE
SCREW 2 2 2 2 2 4 4

FS843 3/8-16 HEX NUT 2 2 2 2 2 4 4

FS827 1/4-20X5/8 RIBBED NECK
TRACK BOLT 26 26 30 30 30 34 38

FS8210 1/4-20 WHIZ FLANGE NUT
ZINC 26 26 30 30 30 34 38

WA0004 1/4 WASHER 6 6 6 6 6 6 6

FS844 3/8"-16 WHIZ FLANGE NUT
ZINC 8 8 8 8 8 8 8

FS842
3/8-16X3/4 RD HD
CARRIAGE BOLT SHORT
NECK

8 8 8 8 8 8 8

SC7231 CLOSED LIFT HANDLES 1 1 1 1 1 1 1

CARTON & PACKAGING
(W/1 POLYBAG) 1 1 1 1 1 1 1


